5.2 Practice — Poly Division and Factor Theorems

Pre-Calculus
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For 1-3, use long division to divide the polynomials.

1. 2x2—7x+4) + (x- 2)

2. (2 =-9)+(y+1)

3. (9x5—3x3421x%—2x+ 4) + (3x%+ 1)
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For 4-6, use synthetic division to divide the polynomials

4. (x*+3x—-3)+(x—3)

5. (7x® + 50x% + 20x) + (x + 2)

6. 3x*—4x?+1)+ (x+1)
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7. If (x + 1) is a factor of 2x° + 2x* — 5x% — 5x% —
3x — 3, what are all the factors of f(x).
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8.1s (x —11) afactor of (3x* —33x3 —17x% +
187x — 11)?
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9. If (3x +5) is a factor of 6x° + 31x% + 23x — 20,
what are all the factors of f(x).
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10. Is (n + 1) a factor of (6n® + 6n?)?
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| For 11-14, a zero of the function is given. Find ALL the zeros of the function.

11. f(x) = 4x3 —25x% — 154x +40; f(10)=0
4 -25 —ISt 4O

Ol Fo 150 -t
t 5% ®

12. f(x)=3x3+34x%2+72x—64; f(-4)=0
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13. fx)=x5+2x*+ 723 + 14x% + 6x + 12
f(=2)=0
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14. f(x)=x*-125; f(5)=0
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For 15-16, use the graph of the function to determine at least one zero, then find the exact values of all the

zeros using the Factor Theorem.

15. f(x) = 3x* + 16x% —8x*— 112x —91
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| For 17-20, one zero is given of f(x). List one other zero.

17. 13 —25i 18. 10i
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Skill= Revieus: Find the x- and y-intercepts fo

r each function. SHOW ALL WORK]!
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